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B[R] 4,936 231 21 235 454 167 5,877
SRR 1,100 79 9 51 211 34 1,450
aFR8 1,197 101 7 65 204 47 1,574
=R 3,203 96 7 143 503 152 3,952
AR 1,093 39 0 35 176 37 1,343
LR 1,451 109 3 72 225 58 1,860
mEE 2,549 127 7 112 491 128 3,286
KR 4,888 210 16 291 908 290 6,313
N 3,662 104 10 153 623 175 4,552
HER 4,080 143 3 176 697 190 5,099
BEE 12,718 481 11 776 3,306 913 17,292
FEE 9,783 372 21 563 1,965 670 12,704
RRED 20,577 278 34 739 4,206 2,074 25,834
fESNS 16,956 327 15 765 3,360 1,418 21,423
Hino i 2,420 126 14 88 537 155 3,185
2R 1,270 71 6 37 243 70 1,627
alllR 1,734 68 4 39 275 88 2,120
BHE 1,218 35 4 37 215 58 1,509
LLBR 1,308 41 2 52 338 99 1,741
REFE 2,777 105 11 104 694 241 3,691
I RIS 3,443 143 1 138 599 193 4,324
EEIR 5619 220 1 236 1,368 504 7444
BHIR 16,719 485 34 469 2,708 1,143 20,415
=ER 2,924 122 7 122 574 168 3,749
BER 2,058 100 2 63 386 116 2,609
RERRT 3,372 125 3 147 736 343 4,383
ABRAT 13,343 716 49 774 2,314 946 17,196
"ER 7,642 177 11 205 1,506 618 9,541
ZRE 1,646 92 7 77 256 82 2,078
AL 1,184 75 9 53 268 84 1,589
SWE 773 30 1 19 109 26 932
ERE 736 20 4 19 149 31 928
A L= 2,608 116 1 88 600 204 3413
LBE 4,089 177 13 132 815 313 5,226
Hijm[= 1,766 43 3 53 342 72 2,207
e 799 69 1 31 197 39 1,097
&HIIE 1,156 62 1 43 257 97 1,519
BER 1,473 56 6 49 337 120 1,921
=R 676 16 1 21 157 36 871
ERR 7,343 311 26 337 1,247 460 9,264
EER 765 57 7 31 207 59 1,067
RIBE 1,080 44 13 29 228 69 1,394
HEARIR 1,979 66 1 84 327 132 2,457
AHE 1,214 74 3 48 235 68 1,574
=IFE 1,236 57 2 44 243 65 1,582
BREE 1,517 69 3 39 328 84 1,956
RIS 701 8 2 11 119 45 841
tT=4 0 0 0 0 0 0 0

a&t 186,781 6,673 417 7.895 36,243 13,181 238,009
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B[R] 3,798 170 9 163 379 129 4519
SRR 931 43 0 33 186 20 1,193
aF= 894 66 3 36 166 35 1,165
=R 2,457 60 3 87 431 109 3,038
AR 868 31 0 27 138 21 1,064
LR 1,180 98 2 56 195 44 1,531
EER 2,061 69 3 72 416 91 2,621
KR 3,755 145 15 195 758 207 4,868
N 2919 71 3 119 531 129 3,643
HER 3,316 102 2 132 587 143 4,139
BEE 9,488 330 4 561 2,755 615 13,138
FEE 7,283 247 13 447 1613 487 9,603
RRED 15,438 184 8 503 3,596 1,734 19,729
fESNS 13,551 239 6 593 2,863 1,144 17,252
Hino i 1,858 86 10 47 435 104 2,436
2R 1,016 48 3 25 211 59 1,303
alllR 1,343 41 0 26 228 68 1,638
BHE 974 24 2 19 184 42 1,203
LLBR 1,059 27 0] 39 282 72 1,407
REFE 2,174 52 4 70 578 188 2,878
I RIS 2,736 71 0] 98 499 153 3,404
EEIR 4,463 152 0 155 1,177 406 5,947
BHIR 13,238 327 20 332 2,241 861 16,158
=ER 2,440 79 6 77 467 129 3,069
BER 1,721 75 1 40 316 75 2,153
RERRT 2,732 102 1 102 589 254 3,526
ABRAT 10,399 504 15 535 1,863 689 13,316
"ER 6,092 115 5 144 1,202 424 7,558
ZRE 1,304 69 1 46 208 62 1,628
AL 920 55 5 38 209 58 1,227
SR 629 19 1 16 92 19 757
ERE 616 11 1 17 121 20 766
A L= 2,034 68 0 56 497 141 2,655
LBE 3,383 103 1 95 633 194 4215
Hijm[= 1,486 26 0] 35 299 52 1,846
e 674 63 1 29 177 29 944
&HIIE 875 42 1 25 211 73 1,154
BER 1,147 42 1 22 261 82 1,473
=R 565 12 0] 12 145 30 734
ERR 5,824 215 6 227 1,009 322 7,281
EER 611 29 0 13 161 43 814
RIBE 859 25 11 18 189 54 1,102
HEARIR 1,600 53 1 57 249 88 1,960
AHE 977 45 O] 31 189 50 1,242
=IFE 1,027 35 0 24 203 53 1,289
BREE 1,250 47 1 26 277 63 1,601
FHEE 538 7 0 7 103 39 655
tT=4 0 0 0 0 0 0 0

a&t 146,503 4,524 169 5,527 30,119 9,904 186,842




